Graphing Exponentials, continued. %

‘ Reminder: When f(x) = a '@IS the function you are graphing, a is the initial value and the y-intercept. Why is that?
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Find the initial value/y intercept without graphing:
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a. Graph the parent function (include the asymptote).

How is the parent function transformed?
Retlect over Y

ug 4 o

b. Graph the transformation (include the asymptote).

C. State the end behavior of the transformed function.
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a. Graph the parent function (include the asymptote).

How is the parent function transformed?
EIEN Vericd Sicetehn by 2
1 ghiks lefr 1 ann |

b. Graph the transformation (include the asymptote).

C.Change f(x) = 2(5)**! to be in the form f(x) = a * b* to highlight the

y-intercept of the transfarmed fu
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Without graphing, identify the domain and range of the following. Hint: think about the parent function and how it was

transformed. D: (00,\@ (2\ {O 003) ‘
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Write the equation of each exponential function.

A house is losing value at a rate of 5.4% per year. In 2009,
the house was worth $131,000. Find the value of the house

in 2019. .
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For the function f(x) = 6(0.8)* - find the average rate of change on the interval [4, 85
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Graphing Exponentials Homework (Day 4)

The graph shows the value of two different shares of stocks over the
. period of 4 years since they were purchased. The values have been ? 150 A Arfg
changing exponentially. Use the graphs provided to write the equations 2 h ‘f:t“ot y
of the functions. Then describe and compare the behaviors of both % % 100 $N1 b A
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2. Explain the Error A student was asked to find the value of a $2500 item after 4 years. The
item was depreciating at a rate of 20% per year. What is wrong with the student’s work?
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3. Make a Conjecture The value of a certain car can be modeled by the function
y = 18000{0.76)", where ¢ is time in years. Will the value of the function ever be 0?
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5. A house in Nashville is worth $250,000 in 2018 and is increasing in value at a rate of 8.5% per year.

a. Write a function for this situation.

b. Find the average rate of change on the interval [0, 3].

¢. What does this mean in terms of the situation?




Graphing Exponentials Homework (Day 4)

6. Match each functionto a graph. ’
f(x) = 3 g(x) = ¥ L A(x) =3~ L ~
F(x) = ~3*,G(x) =37 H(x) = -3,

Re
|

- o W &
R 3 W B
t ——t }




